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BRAINWARE UNIVERSITY

Term End Examination 2024-2025
Programme - B.Sc.(Ag)-Hons-2024

Cou - i
rse Name - Elementary Mathematics \.\b( \36‘ M‘?’S:,,\
Course Code - RC-BAG102-A i \)\\Qfs ¢ )\’L‘>
( Semester 1) 6"‘5\“\;\\'\5\\9‘6 wﬁ‘?’\

Full Marks : 50 Time : 2:0 Hours
[The figure in the margin indicates full marks. Candidates are required to give their answers in their own words

as far as practicable.]

Group-A

(Multiple Choice Type Question) 1x20=20
1. Choose the correct alternative from the following :

U Identify the value of x so that the points (1,2), (2,4) and (x,6) are collinear.
2 3 b,
c) 0 » 9 None of these
(i)~ select the correct option: the slope and intercept on y axis in the straight line
y+x=20is,
) 10 ° 11
d
C) _1’0 ) 2'1
(i) Identify the correct option: the slope and inclination of the straight line joining
(0,0) and(\/§, 1) are, respectively
) b) 1 o
v3,30° 730
L RPN 9 3300
\[5‘
(iv) Identify the correct option: the x and y intercept of the straight line 3x + 4y =
12 are,
2 33 o) 45
) 43 4 None of these
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(v) |
ad:antlfy the correct option: the x and y Intercept of the straight line 3x +y = 0

a) 34 b) 5,3

<) 2,2 d) None of these

(vi)

Choose the correct option: if f(x — 1) = 7x — 5 then f(x + 2)
a) x+16 b) x + x?

0 d) None of these
7x + 16

Vi) choose the correct option: if f(x) = % then f(cosec20) =

a) b) sin? 6

cot? @

c) d) cosec?0

tan? 6

Vi) choose the correct option: if g(x) = fo;—;__., then g(x) is undefined for,

9 A y=1
I
™) Choose the correct option: if @(x) = V5x — 3 + 2x2 then @(—2) =
a) 1 b) O
XSRS
c) 4 d) None of these _ (oﬂ\\\e}c"\%'&*%
W e g
x) Choose the correct option: if f(x) = 5* then fOxt1) . “‘\é%’&g\ \\@:\
ption: N fx=1)" EONCININS
MO
a) 1 b) 5 NN Ce
25
c) 25 d) None of these
(xi)
Choose the correct option: the domain of the function f(x) =8 — x s,
a) x<8 b) x =8
c) x<8 d) None of these
(i Choose the correct option: the domain of the function f(x) = \/%! is
a) [-2,2] b) (-2,00)
c) (2,00) d) (-2,2)

(i) choose the correct option: the domain of the function f(x) = Vx + 1 +
V4 —xis

3 (-1,4) b) (-00, 4]
) [-1,4] d) (4,00)

(V) Choose the correct option: the domain of the function f(x) = log(x — 1) is
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a) x>1 by x =1

x>0 d) None of these
(XV) Ch ' . 2%+1
oose the correct option: the function f(x) = 7 Is
3) Even function b) Odd function
) periodic function d) None of these

(xvi)

cos2xdx
Compute the value of f———(‘m‘j“f" - 5
'+ Ccosx

a) . b .
log|sinx + cos x| ) log |sm.\‘—cos.\‘

<) —log|sin x +cosx]| d) None of these
(xvii) cosVx
Compute the value of [ dx
Vx
a) b)
ZCOS\/; 2cosx B
[3ed
L
o . 1 d &
2sin —= 2sin 1/; ‘% =
- e
X ~S8 7
(xviii) 55< S
Compute the value of [ tan?xdx S0 &2
i i =2
=-2=
a) . _ b) EEZ
E=fanx ¥ ¢ tanx —x +¢ %é‘:’_i;
[e o]
c) d &
x+tanx + ¢ ) None of these
(xix) elogx
Compute the value of [/ 29T dx =
a) 1 b) 5
2
c) d)
1 e
e
(xx) 14
Compute the value of [, 1;, =
a) b) .
T 2
4
7
< 2n 9 None of these
3
Group-B
(Short Answer Type Questions) 2.5 x10=25

Page 3 of 5




10.

11.

A P S e e e e e e

lllustrate [ e3°9%dx .

dx
xlogx

lllustrate [

P

x ¥y 1 1
If p be the length of perpendicular from the origin to the line Shp= 1 then show that < = —

If two vertices of an equilateral triangle be (0,0), (3.v/3) then determine the third vertex.

N )
If the angle between two line is ; and slope of one of the lines is 27 identify the slope of the other

line.

If y = e***in* then identify the value of <.

4 81_|* 8 N \é\ S
If 0 12] = [0 4}7]' then calculate the values of x, y. \:\\o(g\(\\“z@hg"&\ffs
& Q\%\\i’\%Q\\\Q\ %?}:\QQ
AN N
T e®
'5(5%\\{\&{\'6\%\
2 -1 0
If A= then calculate AT — 3A47.
0 2 4
Evaluate the distance between the points A (at, 2, 2at,) and B (at2, 2at,).
Write the point of discontinuities of the function f(x), where f(x) = xi—sTfos.
x<=3x+2

OR

If y = xsinx log x then solve :—: .
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Group-C
(Long Answer Type Questions)

12. )
X
Evaluate fo o dx .

] OR
Evaluate foE cos?xdx .
r
Ly \3“‘\'3?\%\\’%5
G \\“a\)\“ T
3 3\:\ 3(“?“5\\\% \RRY g

X ok ok
***#t**t**t****t********t**t*‘!*****
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5x1=5

(5)

(5)



